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QUESTION 1

How can you obtain information about any changes that have been made by the Self-Tuning Memory Manager
(STMM)?

A. By using the change history event monitor.

B. By using the DB2 problem determination tool.

C. By examining the contents of the system catalog.

D. By examining the DB2 administration notification log file.

Correct Answer: A

QUESTION 2

When a table space is moved to a new storage group, what action will occur for the containers in the old storage
group?

A. They are automatically dropped.

B. They are marked as "Move Pending."

C. They are marked as "Dropped Pending.”

D. They are automatically moved to the new table space.

Correct Answer: C

QUESTION 3

Which statement is correct when describing Range Clustered Tables (RCT) as compared to regular base tables that use
at least one index?

A. RCTs require less logging, less buffer pool space, and less maintenance.
B. RCTs require more logging, less buffer pool space, and more maintenance.
C. RCTs require less logging, more buffer pool space, and less maintenance.
D. RCTs require more logging, more buffer pool space, and less maintenance.

Correct Answer: A

QUESTION 4

The following statement is run:
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CREAT= MASK acct_balance_mask OM patient FOR
COLUNMN acct_balance RETURN
CASE
WWHEN werify_role_fo-_user(SESSION_USER, 'ACCOUNTING'y =0
THEM acct_balance
ELSE 0.00
END
ENABLE,

Which statement about the ACCT_BALANCE column is true?

A. Values stored in the ACCT_BALANCE column are visible to all users.

B. Values stored in the ACCT_BALANCE column are not visible to any user.

C. Values stored in the ACCT_BALANCE column are only visible to users with the ACCOUNTING role.
D. Values stored in the ACCT_BALANCE column are not visible to users with the ACCOUNTING role.

Correct Answer: A

QUESTION 5

Which authorities can be audited with the AUDIT statement?

A. SECADM, DBADM, SYSMAINT, and SYSCTRL can be audited, but SYSADM cannot.

B. SYSADM, DBADM, SYSMAINT, and SYSCTRL can be audited, but SECADM cannot.

C. SYSADM, SECADM, DBADM, SQLADM, ACCESSCTRL, and DATAACCESS can be audited.

D. DBADM, SYSMAINT, ACCESSCTRL, and DATAACCESS can be audited, but SYSADM and SECADM cannot.

Correct Answer: C
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